C 1E2HES

2023/02/19 .
F£13E £E6AF] /NL—FR—IL) —THREBLEBARE XFERE

IR " M T k amma B |85 Tle x @

] F—1L 2 7 : R 3 & N b A K =

1 \©, HLE P RERTT O 31 O 30 3-0 3-0 4.8 4 0 1.000 |12 1 12000 319 = 182  1.753

2 (I 7 )7 = 24timE (] 1-3 @) 3-0 3-0 3-0 41703 1 075 [10 3 3.333| 308 224 | 1.375

3| (O =zmurums ® 03 |® 03 3-0 32 |4 6 2 2 05006 8 075/ 256 313 | 0.818
MUFG

4 “sz BRRED HEARTS ® 03 [ ] 0-3 (] 0-3 3-2 4 5 1 3 0250 |3 110.273 | 242 323 | 0.749

5 FISZBEBHEYUETS ® 03 ® 03 ® 23 2-3 4 4 040000 (4 12 0333 279 @ 362 | 0.771

Ba=EFca BE18 FEHEOR

BE=BEHEH

ty FE=FBty FTktY b

BRE=BRTER

XAEOEFER. ABRHEZEXBRANL—FR—LBECRELET .




| C 2 Bl e s 2023/02/19 52

F13E £E6AR NL—R—LY—THREBXEHAE TR

TIAYVITRER (J\VIOTHIYVISD) INV DT Y ITRER
= b4 s = t
# = R # = b3
=] b i = % s & v T = %
= F—L%E & 3 E - F—L%E & E
iz I~ 4 = = = iz ] ~ R = =
1 | uE R R ER4T 4 13 493 211 43 42.8 1| 7ZILT2RIEE 4 13 75 24 2 32.0
2| 7T ERILEE 4 13 483 170 32 35.2 2 (B R ERTT 4 13 22 6 3 27.3
3|32 EEEYVETS 4 16 606 172 58 28.4 3 [EERED HEARTS 4 14 36 7 5 19.4
4 |BRZRED HEARTS 4 14 543 144 58 26.5 4(~342B8HESUETS 4 16 62 9 12 14.5
5 |[=Z=UFJER1T 4 14 540 124 32 23.0 5 [=ZUFJERTT 4 14 36 5 2 13.9
TRAYIRERE (%) =HBE--ITH*100 NI T TRYTREE (%) =HFR-ITHX100
VI ITRTERE ($a%0) JOvIRERE (Ly )
. b4
= + - 2 R B + “
N F—L# 2y | g £ lalY 2| |E F—LE 21 o ¢
1AL =22 ~ 1AL Y MR i
| 4 % | 7| % 7 | 4 E
1 | IUE R RERTT 4 13 493 42.8 205 6 211 1| 7ZILT2RIEE 4 13 36 2. 717
2| r3sEEBEYVETS 4 16 606 28.4 163 9 172 2 | =ZUFJERTT 4 14 19 1. 36
3 (7T 2 RAEE 4 13 483 35.2 146 24 170 3 [lUBh R ERST 4 13 14 1.08
4 | B Z=RED HEARTS 4 14 543 26.5 137 7 144 4(r34BEHEYUEIS 4 16 12 0.75
5 | =2&UFJERTT 4 14 540 23.0 119 5 124 5 |BRRED HEARTS 4 14 10 0.7
12y bHEYDTAYIRERHK (K) =BA-HEEY M
H_JmExz Y-JL>—TmInE
< + < + 2 24
B = = % 3t |2
& _ v T 7 il ES JIE _ Y =2 I Ih
i FoL& g |t = | 2| A | 2 # FoL& A S I O I 2
% % 7 =4
1 [ILEL R R ER4T 4 13 313 15 97 20 10.9 1 WBh R ER1T 4 13 173 74 62 37 60. 7
2 (7T RtEE 4 13 305 15 84 20 10.2 2 | 7T 2 RILEE 4 13 202 83 68 51 57.9
3 |BRZRRED HEARTS 4 14 245 15 63 28 9.7 J(rasEHEYETS 4 16 327 | 108 | 112 | 107 50.2
4| rA4EFEYUETS 4 16 284 9 80 34 7.2 4 | =ZUFJERTT 4 14 275 93 72 110 46.9
5 |=ZZUFJERTT 4 14 257 8 58 20 6.8 5 |BZERED HEARTS 4 14 284 81 85 118 43.5
H—IPER (%) =(H—EXI—ZAX100+3E x 25—k 8 x25) +3iTH Y—TLI—TRUE (%) = (B [E] x 100+ Ih [R] x 50) +$T#

RAEZEDEFIER. ARPHENBRANL—R—ILBECRBELET .



KE) & A 5215 > > (Best15)

%130 £E6AH /NL—

R—iL)—

THE

BLEBRE LFERERH

2023/02/19 55

FIYITRER Ny IT7HFYvIED) /TR (5=
# |t " % 2 | 2| 72 | 2|%| a
= K% 7ot | B §§z g 181 % = . K% Fos% | B é} ; 2 IR
e e s 13| s |4 | s | 42 BEEECE =P 4 |16 | s | 4] 2] eo
1|ve 52 e 4 | 12| e |a| 7| 42 2 |mm ans Frrzx | 4 | 13| s0 | 4| 3| &7
3| R Frrzz | 4 | 13| s | 23| 5 | 451 3|nz me Frrzz | 4 | 13| 58 | 2 | 56
4 |opt s77E WS R 4 10| s |2t | 2| 40 4 |1k EP 4 | 16| a8 | 4| 2| 54
5|FR FEB TRH 4 | 14| e |26 | 2 | 382 5|8 = TRH 4 || s | 1| 52
6 |mm amwn Frszx | 4 | 13| 136 |50 | 9 | 368 6 |Tm s IETLE 4 | 13| & 1] 3| 4
1|82 pok WSt heR 4 | 13| s |29 | 11| 345 7|vE %% e 4 12| a2 | o] 3| 4
8 |n= me Frrzx | 4 | 13| 156 | 53| 7 | 340 8 |18 mi EP 4 | 8 | a7 1] o | 38
9|BF 205 =P 4 | 16| 166 | 54 | 13| 325 8 |R7e @ Frrzz | 4 |18 ] 28 |13 2| 38
10|53 1 NUFG 4 | 1a| s | 17| 6 | 288 1058 #F MUFG 4| 14| 36 1] o |
1|R8 2% TRH 4 | 14| 186 | 50 | 26 | 269 1|2z ros e 4 | 13| 29 | 2| 3| 34
12|E% B ey 4 0| a0 || s | 28 12| BE MUFG PR RVEN R Y R TI 33
13[tK =P 4 | 16| 182 | a8 | 19 | 264 13|pm FEB TRH 4 || 26 | 2] 4| =
14| B2 MUFG 4 || s |2t | 3| 23 14|wm stz e 4| 8| 26 | 4] o] 3
154011 77 TRH 4 || 12 | e | 7| 22 1550 $% TRH s || 19 | 4] 5| 28
TEYYREE (%) =FR-ITH*100 BER=72vIBE+ITAVIBE+Y—TBA
T L @ | &
" K4 F—L& § 7 4 i " K% F—LA& § ? & %
B # s i
1|1z e FLFIR | 4 | 13 53 4.08 1 |7 @ FLFIR | 4 | 13 13 .00
2 |mm anH FLFER | 4 | 13 50 3.85 2| BE NUFG 4 | 14 1 0.79
ELE TRH 4| 14 50 3.57 3 |wm wiT FLFsR | 4 | 13 7 0.54
4|nE 5% e 4| 12 Iy 3.50 4 & = TRH 3 | 1 4 0.36
5|EF #95 e 4 | 16 54 3.38 4 |mw gz FLFsR | 4 | 1 4 0.36
6|7 e WSt R 4 | 13 4 3.23 6 |mm awH FLFIR | 4 | 13 4 0.31
7|k EP 4 | 16 48 3.00 7|w#t o1 ey 4 | 10 3 0.30
8 s #F MUFG 4 | 14 36 2.57 8 A m EY 4 | 16 4 0.25
9|82 oA eI 4 | 13 29 2.23 8|t 205 EP 4 | 16 4 0.25
10|cp4f £77E e 4 | 10 21 2.10 10 =on e 4| 13 3 0.23
1|px F52 TRH 4 | 14 26 1.86 1|rey 8 WUFG 4 | 14 3 0.21
1|40 e TRH 4 | 14 26 1.86 12|z #E FLFIR | 4 | 13 2 0.15
13|R7E &H FLFR | 4 | 13 23 1.7 12|88 hoA WISt ch 3R 4| 13 2 0.15
14|zm $% TRH 3 | n 19 1.73 14|eR T2 TRH 4 | 14 2 0. 14
HEEES MUFG 4 | 14 24 171 14|Fg B% TRH 4 | 1 2 0. 14
T2y bHEYDTE Y IRERY (XK) =Bty b 1y bHEYDTOYIRERHE (K) =BR-Hty b
B —JRRE
[ e sz Bl S alelalzl2] |n B s |25 | 2 518 =]2
fi Sl rla|s |2 |52 & gl rl& || |&|2
0 # g | B
1B 5= TRH 3 | s [ 5 | 12| 3 86| [1|mm s e 4 |22 17 2|3 |79
2 |EH# # MUFG 4 | 14| 3| 4| 9| o |84 |2|mE p0s WSt eh8R 4 | 13|50 | 24| 19| 7 |6r0
3 | e FLFzx | 4 |13 | 54| a4 | 2t | 4 |53 |3|mw e Fr7zx | 4 | 13| 69 | 36 | 20 | 13 |667
4 @ =on e 4 | 13| a0 | 3| 18| 1 |1a8| |4|n=me FLrzx | 4 | 13 | 59 | 26 | 19 | 14 |60.2
N EER % e 4 |02 | 2| 17| 6 [1a8] |5|nExs WIBL R 4 | 12 |50 | 21 | 16 | 13 |80
6% BT MUFG 4 | 1a s | 2 | 13| 1 19| |6 |mma EP 4 | 16 | 87 | 29 | 33| 25 |523
A E WS R s 2| a2 s | 3| 2 [7| |7|EmEe NUFG 4 | 14 | 86 | 3 | 21 | 32 |506
8 |wm miT Frrza | 4 | 13| 8| 4 | 14| 1 |125| |8|mx @n e 4 | 10|32 | 12| 8 | 12500
9|82 oA WS R 4 | 13|50 | 3| 15| 4 [115] |o|mT 205 EP 4 | 16 | 88 | 28 | 31 | 29 |49.4
9 |%m B =P g 2]l 10| s [1s| o|Fz sE TRH 4 | 14 |6t | 2| 16| 23 |42
e e 4 |3 ss | 3| 16| 2 [112] [11|Rs = TRH 4 | 14| 7| 2| 22| 27 |45
12|EE fpE Frsza | 4 |13 || 3 | | 4 |oo| |12z mx MUFG 4 | 14 | o8 | 31 | 20 | 38 |46.4
13[tK EP 4 |16 | 57| 2 | 2a | 10 |06 | [12]a mE MUFG 4 | 14| a2 |15 | 9 | 18 |464
14|41 #77E TRH 4 | 1a e | 2 | 1| 2 [e2]| [14|mm ke Furzx | 4 | 13|50 | 12 | 21 | 17 450
HEER L EX 4 |16 | a0 | 2 | 12| 6 | 88| [i5|rm e WUFG 4 | 14 | a6 | 14| 12| 20 |45
Y—THRE (%) =(H—EXT—Xx100+%FE x 25—k x25) +iTH P—TLI—TRME (%) =R [E] x100+mKII[R] x50) ~$TH

KEAZEDZEFER.

ABFFEABERNL—R—ILIEE

ICRELET.




SISy e SEE

HAEES 306

FER 2023/02/18

130 £E6AH NL—R—LY —FREBELEBAS xFES =5 LHKRERHIESAKETE

e LA

BHEH JURY : 3RA HE F—L b | B | 1 2 3 4 5 | &%
BASRBERS :  10:00 F* FE: M ZHZ FISEBESUETS 0 1 16 19 16 51
BRTERY . 11:08 El E: EL 7 FILT S RALiEE 3 2 25 25 25 75
HEEM . 01:08  #EE: KK K# HEEH| 00:19 0022 00:21 01:02

FIFAEBEYUEIS VS 7ILT I RIEE
1set 2set 3set 4set bset 1set 2set 3set 4set bset
1 9 5/ 1 9 5 1 9 5 XA &4t B X B HAZE 2 3 14,6 2 3 2 3 14
(8) (8) (12) T FEss J—F HE 8
7 6 3.7 6 3 7 6 3 Of% 38X & " 2f%08K 6 9 7 9 7 14/6 9 7
(12) (12 10) (10) 3 B = 4 (5) (5 e (4)
1%—31 o 12-18 - SALT I _ - _ Z -
i HE B EY: iR E & B £ SFf
RIEE (%) 26.7 101 27 9 Rk 94 41 i 43.6 RIEE (%)
REE (%) 33.3 6 2 1 (RN T7HRYY) 12 3 0 25.0 REE (%)
v FEH(R) 1.33 — 4 — Jowvy — 10 — 3.33 vy FEH(R)
SR (%) 3.3 53 0 1 H—7 73 4 8 8.9 SR (%)
ARIIEE (%) 42.3 — — — H—JLi—J — — — 50.0 AR IIEE (%)
F—LTHI b+ 4 — 20 — HFEDIR — 20 — 5 F—LTHIE
154 51 16 &5t 167 75 15
Histy b PV RNV ITEYY) Jovyy H—7 H$—JLI—7J
. t . t N B Rk X

rasEmmyoezy (B, ., luex B Yluex 2|8 Y luexwn B |lzmm I
1 C HBAE 3 m mm 24 8 2 333 260 |4 2 1 5.0 [0 = 9 0/ 2 3 28 Jo o0 o0 =
2 =g R 0
3 8 Bt 3 M mm 38 7 1 2.2 233 |0 0 0 = 0 = 7.0 2 2 00 |16 3|9 4609
5 miE 2 3 m mEm 11,0 1000 033 |0 0 0 - 1003 [9 0/2 1| -28 |o 0 0 -
6 Pk HE 3 m Em 1.0 1 0.0 000 |0 0 0 - 0 - 7.0 0 2 7.1 00 o0 -
7 LA B 3 m Em 16/ 6|2 375 200 |0 0 0 - 0 - 6.0 1 1 00 [0]0 0 -
8 MR iRt 2 oo 00 0 - - 00 0 - 0 - 0 0/ 0 0 - 300 1 16.7
9 BF #0905 3 mEn 26 5 3 19.2 .67 |2 0 0 00 [3] 10 |7 0 0 2 7.1 |25 6 10 44.0
10 FRE 57 2 O o 00 0 - - 00 0 - 0 - 2.0 0 0/ 00 |3 1 1 500
m| L k& E 3L L L 00 0 - - 00 0 - 0 - 0 0/0 0 - 182 10 38.9
12 %@ HH 3 00 0O 0 0 0 = = 00 o0 = 0 = 6 0 0 3| 125 |0 0 0 =

F—L&F 3 10127/ 9 26.7 9.00 |6 2 1 3.3 |4 1.3 |5 0 7 14 33 |65 12/31 423
Histy k &PV RNV ITEYY) Javy H—J H$—JLi—J
. L . £ N B
FUT IR B, 54 5lursx B P lnex 2 |8 Y |luexn 2 |zmm F
] 1 7 R
1 Xima EfE 0
2 B i 3 mEn 132 2 154 0.67 |0 0 0 - 103 |14 22 2| 143 |15 3 8 46.7
3| ¢ wmE #HF 3 m mm 6 4 0 667 1.33 |0 0 0 = 30 100 |12 0 0 1 2.1 00 0 =
4 NE B 1 O 7.2 1 286 200 |0 0 0 - 0 - 110 1,0 250 |20 0/ 00
5 WA BaR 2 0 0O 3.1 0 333 050 |0 0 0 = 1. 05 |[6 0/ 0 4/ 167 |0 0 o0 =
6 INE HHE 3 m mEm 2181 381 267 |7 2 0 286 |1 03 [12.0 2 6 83 |10 5|3 650
7 B B 3 m Em 11,0 1000 033 |0 0 0 - 0 - 7.0 0 3 107 [0 o]0 -
8 2 XT 0
9 BT &8 3 m Em 1310/ 2 76.9 333 |0 0 0 - 3/ 100 |8 1 1 0 9.4 1.0 0 00
11 L dest WRE 0
14 HE E 3 m mm 30 13 1 43.3 43 |5 1.0 20 |1 03 [12. 1 2 2 83 |2 o1 20
15 B FE 0
16 KE HE 1 O 00 o0 = = 00 o0 = 0 = 10 0 0 00 [0 0 0 =
18 | L AW s 3L L L 00 o0 - - 00 o0 - 0 - 0 0/0 0 - 16 6 6 563
F—LEE 3 94 41 7 3.6 13.67 [12/ 30| 250 |10 333 |73/ 4|8 18| 89 |46 14 18 50.0

Xty rv—2: A

=RB—=TFT AT AN~

O=%REF L=1~0O

TEYYVREE (%) =FR--FTHx100

Y—THRE (%) =(H—EXT—Xx100+3F x 26— %A x25) +iTH

TRYIRERYE (F) =KRATHBEEY M

TRy IRERE (X) =BR+HBEY b
Y= LI—TRUE (%) = (FRIE] x 100+ [R] x50) +2%

KAEDEEEE. ABUFEABRNL—R—LBRITRELES,




SISy e SEE

AEES 307

FER 2023/02/18

i

130 £E6AH NL—R—LY —FREBELEBAS xFES =5 LHKRERHIESAKETE

jbimE

BHEH JURY : A HE F—L b | B | 1 2 3 4 5 | &%
BASRRERE : 1146 X E: BLE €7 =%UFJR1T 0 1 14 10 16 40
JTHEM: 12246 B T AK Ez LB R ERIT 3 2 25 25 25 75
HErmR 01:01 HES . £EH HEE S &EFR| 00:17 | 00:19 | 00:19 00:55
© = %UFJERT Vs ey @

MUFG
1set 2set 3set 4set bset 1set 2set 3set 4set bset
7 8 9 2 71 8 8 9 BiE %= B OB it sE 5 12 8 6 5 12 5 12 2
4 (1) @) EX B a—F R T 9 ()]
2 6 5 6 5 9 6 5 115288 & " 3f%0RK 6 1 4 1 4 2|6 14 4
an (1 4 B = 6 (10) @)
g i& nj7 - - SALT I _ - _ Z -
i HE B EY: iR E & B £ SFf
RIEE (%) 18.8 101 19 8 Rk 119 50 8 42.0 RIEE (%)
REE (%) 0.0 8 0 0 (RN T7HRYY) 5 1 1 20.0 REE (%)
v FEH(R) 1.33 — 4 — Jowvy — 3 — 1.00 vy FEH(R)
SR (%) 2.4 4 1 5 H—7 74 3 7 10. 1 SR (%)
ARIIEE (%) 41.7 — — — H—JLi—J — — — 67.1 AR IIEE (%)
F—LTHI b+ 6 — 16 — HFOIR — 19 — 1 F—LTHIE
142 40 13 &5t 193 75 15
Histy b PV RNV ITEYY) Jovyy H—7 H$—JLI—7J
— s Ur s Hy - * 5 - O D e alwm B e TR g
3] )
1 C  FAE fOHR 3 0o 0 00 0 - = 0/0 0 = 0 = 0 0 0 0 = 0/0 0 =
2 R HF 3 mmm 15 20 133 0.67 |0 0 0 - 0 - 6 1,0 3| 202 |24 5 9 396
4 nE B 2 O O 00 o0 = = 00 o0 = 0 = 4. 01 0/ 63 |Jo 0 o0 =
5 aH 3 m mEm 1223 167 0.67 [0 0 o - 0 - 4. 0/0 0/ 00 Jo 0 0 -
6 B BT 3 m Em 38 5 4 132 1.67 [3]/0/0| 00 |oO - 6 0 1 1 0.0 [10/3 2| 400
7 My BB 3 m Em 206 1 300 200 |0 0 0 - 3/ 100 |4 0 0 0 00 1.0 0 00
8 MR =B 3 m Em 16 40 250 1.3 [5]/0/0| 00 |oO - 7.0 2 1 -36 |13 3|6 462
9 WE HTE 3 m Em 00 0 - - 00 0 - 1003 [9 0/1 0| -28 |0 0 0 -
10 | L &% &8 3 L L L 00 0 - - 00 0 - 0 - 0 0/ 0 0 - 18 5 6 44.4
1 EANTE 1 O 00 0 - - 00 0 - 0 - t/o/0/0 00 [0 0 0 -
F—L&F 3 10119 8 18.8 6.33 |8 0 0 00 |4 1.3 |4 1 5 5 24 |66 1623 41.7
Histy k &PV RNV ITEYY) Javy H—J H$—JLi—J
e t A O - A 2 le 5 lnesy 2 |e22 =
TR Brri e slREE B L |weE E R g |BRRE 2 BT 2
] 2]
1 mEE BE 2 m m 24 10 2 41.7 500 [0 0 0 - 0 - 10 0 0 00 [0 0 0 -
2 NE EE 2 I 14,5 0 357 250 |0 0 0 - 0 - 5 01 3| 100 |4 2 0 500
3 | cL B kE 3 L L L 00 0 = = 00 0 = 0 = 0 0 0 0 = 403 1| 815
4 g Eon 3 mEn 33,0 100.0 100 [o 0o - 0 - 9 . 0/1 5| 1.1 Jo 0o o0 -
5 TH Ak 3 mEm 20 7 4 350 233 |5 1 1 200 |0 = 6 1 0 7 172 [0 0 o0 =
6 BE hOA 3 m mEm 16 7/0 4338 233 |0 0 0 - 1,03 |20 22 7| 163 |18 8 7 639
7 EoIGIE 1 O 00 0 - - 00 0 - 0 - 10 0 1 250 [0 0 0 -
8 BA EP 1. 711 143 100 [0 0o - 0 - 2,01 0| -125 |6 4 2 8.3
9 bt Iy 2 O O 2 2 0 100.0 100 [0 oo - 0 - 0 0/ 0 0 - 200 2| 500
10 A RLE 1 O 412 0/ 500 200 |0 0 0 - 1910 [2 0/1 0| -125 |0 0 0 -
1 =E R 0
12 T BFTE 3 m mm 238 1 348 267 |0 0 0 - 103 (160 0 2 31 1.0 1 500
14 WA FE= 1 n 6 5 0 833 500 |0 0 0 = 0 = 2. .01 0/ 125 o 0 0 =
15 L s B 0
F—LEE 3 119/50 | 8 42.0 16.67 |5 1|1 200 |3 100 [74/3 7|25 101 |35 17 13 67.1

Xty bv—

W= —TFT T A2\—

O=%REF L=1~0O

TEYYVREE (%) =FR--FTHx100

Y—THRE (%) =(H—EXT—Xx100+3F x 26— %A x25) +iTH

TRYIRERYE (F) =KRATHBEEY M

TRy IRERE (X) =BR+HBEY b

Y= LI—TRUE (%) = (FRIE] x 100+ [R] x50) +2%

KAEDEEEE. ABUFEABRNL—R—LBRITRELES,




TSR

F13E £E6AH NL—HR—IL)—TREBXBHAS XFEH

#AEES 308

FER 2023/02/18

e LA
218 . IR ZEHESAEE

BHEH JURY : A HE F—L b | B | 1 2 3 4 5 | &%
BASARERY - 13123 F B BAK E2 HHTRED HEARTS 0 1 10 17 18 45
RTERRY . 14:32 Bl B/ M &2 FILT S RALiEE 3 2 25 25 25 75
HERM:  01:00 HES: BR XEF S ABFRA| 00:17 | 00:23 | 00:23 01:03

HRRED HEARTS VS TILT 2 RIEE
1set 2set 3set 4set bset 1set 2set 3set 4set bset
1T 2 412 4 6 1 2 4 2B A BRAZE 6 2 3 2 3 14/6 2 3
FiF Bx a—F HE g )
5 3 8 1 5 3|5 3 8 11538 & " 3f%0RK 9 7 14 6 9 15/ 9 16 14
5 B = 6 (16) (4)
s—_15 16:20 12:?8 - - PR - 13:12 15:15 - -
i HE B EY: iR E & B £ SFf
RIEE (%) 24.6 122 30 12 Rk 121 41 6 33.9 RIEE (%)
REE (%) 8.3 12 1 3 (RN T7HRYY) 17 1 0 41.2 REE (%)
v FEH(R) 0.67 — 2 — Jowvy — 4 — 1.33 vy FEH(R)
SR (%) 4.9 46 1 1 H—7 74 1 5 14.9 SR (%)
ARIIEE (%) 45.5 — — — H—JLi—J — — — 50.0 AR IIEE (%)
F—LTHI b+ 4 — 12 — HFOIR — 23 — 1 F—LTHIE
168 45 19 &5t 195 75 1
Histy b PV RNV ITEYY) Jovyy H—7 H$—JLI—7J
= H p R 5 : % le v . % oAl AR
1 C #E T2 3 m Em 10 2 0 200 0.67 |0 0 0 = 103 [9 1 3 1 56 (00 0 =
2 Fig B% 3 mEm 9 2 1 2.2 0.67 |0 0 0 - 0 6 0 1 2| 42 11,0 100.0
3 #l FE;TE 3 mEm 243 2 125 1.00 [3]0]1 00 |o = 8 0 0 4 125 |13 7 1 517
4 BB %1 3 m mEm 44 12 4 21.3 400 |7 0 2 00 |o - 100 22 00 |31 7 11 403
5 A EPE 3 m Em 319 4 290 300 |2 1 0 50 |1 03 [5 0 0 1 50 |82 3| 438
6 KA WE 1 ] 3.2, 0 667 200 |0 0 0 - 0 - 3.0/1 0/ -83 |o 0 o0 -
7| L FE EE 3 L L L 00 0 - - 00 0 - 0 - 0 0/ 0 0 - 143 6 429
8 B HE 2 ' m n 1.0 1 0.0 0.00 |0 0 0 - 0 - 5 00 2| 100 |o 0 0 -
F—L&F 3 122/30 12 24.6 1000 12 13 83 |2 o067 |46 1 7|12 49 |67 20 21 455
Histy k &PV RNV ITEYY) Javy H—J H$—JLi—J
. L . £ N B
FUT IR B, 54 5lursx B P lnex 2 |8 Y |luexn 2 |zmm F
] 1 7 R
1 XEn £ 1 O 2 1.0 500 .00 [0 0 0 - 0 - 10 0 0 00 [0 0 0 -
2 B i 3 mEn 17,2 0 11.8 0.67 |0 0 0 - 0 M1 15 182 [15/ 4 4| 400
3| ¢ wmE #HF 3 mEm 1.5 1 455 1.67 |0 0 0 = 1 03 [19 3/ 0 2| 184 |0 0 0 =
4 M ®E 1 O 410 0| 00 0.00 |0 0 0 - 0 - 0 0/0 0 - 11,0 100.0
5 R BHaR 0
6 INE HHE 3 m mEm 5117 1| 33.3 567 |12/ 5 0 4.7 |o - 1B/ 1 25 135 |51 3| 500
7 B B 1. 00 0 - - 00 0 - 0 - 10 0 0 00 [0 0 O -
8 2 XT 0
9 BT &8 3 m Em 10 61 600 200 |0 0 0 - 3/ 100 |8 0 0 2 6.3 |0 0 0 -
| L oits pRe 1 L 00 0 - - 00 0 - 0 - 0 0/0 0 - 300 2| 333
14 HE E 3 m mm 25 10 2 40.0 333 |5 2 0 400 |o = M 1, 1/3 136 [0 0 0 =
15 B FE 1 ] 00 0 - - 00 0 - 0 - 1o/ 10 20 [0 0 0 -
16 KE HE 2 O m 1.0 1 0.0 0.00 |0 0 0 = 0 = 9 1,0 4| 22 |o 0 o0 =
18 | L AW s 3L L L 00 o0 - - 00 o0 - 0 - 0 0/0 0 - 146 5 607
F—LEE 3 12141 6 33.9 13.67 (1770 412 |4 133 |74/ 7|5 21| 149 |38 12 14 50.0

Xty bv—

W= —TFT T A2\—

O=%REF L=1~0O

TEYYVREE (%) =FR--FTHx100
Y—THRE (%) =(H—EXT—Xx100+3F x 26— %A x25) +iTH

TRYIRERYE (F) =KRATHBEEY M

TRy IRERE (X) =BR+HBEY b
Y= LI—TRUE (%) = (FRIE] x 100+ [R] x50) +2%

KAEDEEEE. ABUFEABRNL—R—LBRITRELES,




SISy e SEE

#AEES 309

FER 2023/02/19

130 £E6AH NL—R—LY —FREBELEBAS xFES =5 LHKRERHIESAKETE

e LA

BHEH JURY : A HE F—L b | B | 1 2 3 4 5 | &%
BAtARERD :  09:30 * E®: BK 2 FISEBESUETS 2 1 25 20 16 25 12 98
RTEM:  11:29 R T/ MEI &EZ =%UFJR1T 3 2 19 25 25 23 15 | 107
HERM: 01559 HEE: AR 0¥ St &B5RI| 00:22 | 00:23 | 00:22 | 00:25 | 00:15 | 01:47

3 S EBEY L ETS s = BUFURST O
1set 2set 3set 4set bset 1set 2set 3set 4set bset
1 9 5/ 1 9 5, 1 9 5/ 1 9 5 1 9 5 XA &4t B X BiE %= 7 8 9 2 7 8, 7 8 9, 2 7 8 .2 1 8

(10) (12 (12 (12) I s J—F BEX B (1 (¢)] (¢)] (4) (4)

7 6 3 7 6 3 7 6 3[7 6 3 7 6 3 OR 48K & " 255288 2 6 5 6 5 9|2 6 5 6 5 96 5 9
(12) (10) (%) (2) 4 B = 6 (1) ) (1)
AN A A ol [ [ &6 |
i HE B EY: iR E & B £ SFf
RIEE (%) 34.9 212 74 22 Rk 184 57 10 31.0 RIEE (%)
REE (%) 12.5 16 2 2 (RN T7HRYY) 9 2 2 22.2 REE (%)
v FEH(R) 0.80 — 4 — Jowvy — 9 — 1.80 vy FEH(R)
SR (%) 6.6 98 3 10 H—7 107 2 5 6.8 SR (%)
R IhEE (%) 62.9 — — — H—JLi—J — — — 58.5 AR IIEE (%)
F—LTHI b+ 7 — 17 — HFOIR — 39 — 2 F—LTHIE
310 98 32 &5t 291 107 15

Histy b PV RNV ITEYY) Jovyy H—7 H$—JLI—7J
° H SR % M oy lmr
hasemEyiesy gy, 5 4 sl 2 Y |g@x E |8 7 |p@xw § o zaw §
ﬁ ﬁ |||||||| L—g EF ﬁ |||||||| 573 amn qz a \\\\\\\\ L—g ﬁ E E 3‘—3
1] )
1 C ik & 5 m W W m M|57 15 8 263 300 |6 1 0 167 [2 040 [32 2 4 13 133 [0 00 =
2 EE R 2 o o 21,0 500 050 |0 0 0 - 0 7.0 1.0 -36 [0 00 -
3 8 & 5 M WM W N M|61 30 6 492 6.00 |4 0 2 0.0 1002 [9 0 0 1 2.8 |49/26 12 65.3
5 Bz 2 5 m m m ®m m[10 3 1 300 060 |0 0 0 - 0 - 13132 5.8 00 0 -
6 Pk HE 5 m WM W m m|[0 0 0 - - 00 0 - 0 - 4.0/ 0 0/ 00 Jo 0 o0 -
7 LA B 5 m M W N Wm|2 3 3 125 0.60 |0 0 0 - 102 (11 00 2 4.5 00 0 -
8 WE i2tx 0
9 BF #0905 5 m M W W W[5 2 4 379 440 |6 1 0 167 |0 - 130 14 58 |23 10 4 522
10 3 N 2 00O 00 0 - - 00 0 - 0 - 4.0 0 1 6.3 412 2| 7150
m| L k& E 5 L L L L L|]O O 0 - - 00 0 - 0 - 0 0/0 0 - 25 15 3 | 66.0
12 M HH 4|0 O 00 0 = = 00 o0 = 0 = 5.0 1 1 00 (00 0 =
F—L&F 5 212/ 74 22 34.9 14.80 (16 2|2 125 |4 080 |93 10/24 6.6 [101 53 21 62.9
Histy k &PV RNV ITEYY) Javy H—J H$—JLi—J
o e A O - A 2 le 5 lnessy # |laBd =
SRR Br2zs e slpRR E P laRa E R b B2 2 &Y 2
] 1 7 R
1 C  FAE fOHR 4|0 O o oft1|/1 0/ 1000 0.25 |0 0 0 - 0 - 0 0 0 0 - 0/0 0 -
2 R BT 5 M WM W H W[4 9 1 225 .80 |10 0 00 |0 - 160 1|7 9.4 |33 14 9 561
4 mE B 4 O oo ofo oo - - 00 0 = 0 = 100 1 1 00 [0/0 0 =
5 aH 5 M M W N |2 9 1 301 1.80 [0 0o - 0 - w1 0/6 179 [0o/0 o0 -
6 B BT 5 m M W H W[5 15 3 254 300 |2 0 0 00 1002 [9 0 0 1 2.8 |12/5 4 583
7 My BB 5 m M m W M|[2 10 0 435 200 |0 0 0 - 5 100 |12 1 1 1 8.3 00 0 -
8 LS 5 m W m W W|35 11 5 3.4 220 |6 2 2 333 [3 060 |22 0 1 5 4.5 85 2| 750
9 WE HAE 5 m m M m m|[3 2 0 667 0.40 |0 0 0 - 0 - 24,0 15 4.2 00 0 -
10 | L &% &8 5 L L L L L|]O 0 0 - - 00 0 - 0 - 0 0/ 0 0 - 3% 18 4 571
1 EATTE 0
F—LEE 5 184/ 5710 31.0 1M.40 9 2|2 222 |9 180 [107]2 5|26 6.8 |8 42 19 585
XtHHEtEy bv—0 0 B=RE—T 4 5A0nN— O=XAKEF L=UADO

TEYYREE (%) =FR+
Y—THRE (%) =(H—EXT—Xx100+3F x 26— %A x25) +iTH

TH %100 TE Y RERHY

(X) =BRTHEtY b

TRy IRERE (X) =BR+HBEY b
Y= LI—TRUE (%) = (FRIE] x 100+ [R] x50) +2%

KAEDEEEE. ABUFEABRNL—R—LBRITRELES,



FE13E £E6AH

SISy e SEE

NL—R—LY) —TREFSLEBRS XFERE

#AEES 310

FiEE 2023/02/19
&5 . APAERHESHER

e LA

BEH JURY : {ERE EHIE F—LI tyb [ B | 1 2 3 4 5 | &%
BASRRERE :  12:15 X ®#: BLE €7 ILFL R ERT 3 2 19 25 25 25 94
BTERY . 14:03 Bl E: RA HEF FILT S RALiEE 1 1 25 15 20 23 83
HEEM . 0148 HER: SH HB HEFH| 00:22 00:23 | 00:26 | 00-28 01:39
©) PR Vs 7 L7 3 R4
1set 2set 3set 4set bset 1set 2set 3set 4set
5 12 2 6 5 12/ 5 12 2 6 5 12 st &E OB A BRAZE 14 3 4 14 3 14 3 6 6 2
an (8) @) (8) iRiE E J—F HE 8 (2) (2) ()]
6 1 4 14 4 2 14 4 14 4 2 ARB0RR & " 31K 4 9 9 7 6 4 9 7.9 71 14
8 B = 1 (16) (16) 6) | (8)
S M A = T [ h BRI -
i HE B EY: iR E & B £ SFf
RIEE (%) 34.9 189 66 22 Rk 169 47 13 27.8 RIEE (%)
REE (%) 28.6 1 2 0 (RN T7HRYY) 28 4 2 14.3 REE (%)
v FEH(R) 1.50 — 6 — Jowvy — 9 — 2.25 vy FEH(R)
SR (%) 7.3 93 3 3 H—7 84 0 1 5.1 SR (%)
ARIIEE (%) 64.5 — — — H—JLi—J — — — 63.6 AR IIEE (%)
F—LTHI b+ 2 — 19 — HFOIR — 27 — 5 F—LTHIE
282 94 25 &5t 253 83 14
Histy b PV RNV ITEYY) Jovyy H—7 H$—JLI—7J
Sk 8= Hy - * 5 - % e v e alwm B e TR g
AR 212005 BEE E P GEE E B oL REREE 2 2VY 2
1 mEE B 1 . 5 1 2 200 .00 [0 0 0 = 0 = 2.0 1 0 -125 o 0 0 =
2 NE Ex i m mEN 50 17 5 | 34.0 425 |0 0 0 - 0 - 131,04 154 |31 16 9 661
3 | oL E% k= 4 L L L L 00 o0 = = 00 o0 = 0 = 0 0 0 0 = 137 4 692
4 EE Eonm 4 m m mm 7.5 1 7.4 1.25 [0 00 - 2 05 |12/ 0 0|4 83 10/ 0 00
5 T HE & 4 m m mm 42 18 1 42.9 450 |7 2 0 286 |0 - 15 1 0 1 8.3 1.0 0 00
6 BE HDA 4 m m mm 50 1310 26.0 325 |0 0 0 - 0 - 22 1,2 3, 57 |[29/15/10 69.0
7 EEILIE 1 O 00 0 - - 00 0 - 0 - 10 0 0 00 [0 0 O -
8 BA Bm 3 O oo 00 0 - - 00 0 - 0 - 0 0/0 0 - 84 0/ 500
9 8 o 0
10 A E 0
11 B 1O 0 0 0 = = 00 o0 = 0 = 10 0 0 00 [0 0 0 =
12 T BF1E i m mEN 1250 41.7 1.25 o 0o - 0 - 180 0/ 3 42 [0o/0 0 -
14 =2 3 C 237 3 304 233 |0 0 0 = 4 133 |9 0o 0o 3 83 |[0/0 0 =
15 | L & B8 0
F—L&F 4 18966 |22 34.9 1650 [7 20 286 |6 1.5 |93/3 3|18 7.3 |83 42 23 64.5
Histy k &PV RNV ITEYY) Javy H—J H$—JLi—J
7T S AABE i 8% 2 7 T8 % 2 |@ 7 rexn ¥ |=BE 2
TR Br2zs e slpRR E P laRa E R b B2 2 &Y 2
] 1 7 R
1 Xima EfE 0
2 B i 4000 m 8 0 1 0.0 0.00 |0 0 0 - 0 - 13/0 05 9.6 |8 2 4 500
3| ¢ wmE #HF i m mEN 103 0 300 0.7 |0 0 0 = 102 [12. 0/ 0 5| 104 |1 1 0 100.0
4 NE B 3 mmm 26 9 4 346 300 |0 0 0 - 103 |7 01 0| -36 |14 7 5 679
5 R BHaR 0
6 INE HHE 4 m m mm 50 14 2 28.0 350 |1202 1 167 |o - 150 0 1 1.7 |38 17 11 59.2
7 B B 4 m m mm 11,0 1000 025 |0 0 0 - 2|/ 05 |3 0 0 0 00 [0/0 0 -
8 2 XT 1 O 00 o0 - - 00 o0 - 3/ 300 |3 0 0 0 00 [0/0 0 -
9 BT &8 4 m m mm 17 22 11.8 050 |0 0 0 - 1002 (120 0 2/ 42 |0 0 o0 -
| L oits pRe 0
14 HE E i m mEE 57 18 4 31.6 450 |16 2 1 125 [1 025 |15 0 0 3 50 [0 00 =
15 B FE 0
16 KE HE 3 00 O 0 0 0 = = 00 o0 = 0 = 4 0/ 0 2/ 125 |0 0 0 =
18 | L AW s 4L L oL oL 00 o0 - - 00 o0 - 0 - 0 0/0 0 - 27 16 6 | 70.4
F—LEE 4 169 47|13 27.8 11.75 |28 4|2 | 143 |9 225 |80 |1 /18| 51 |88 43 26 63.6

Xty bv—

W= —TFT T A2\—

O=%REF L=1~0O

TEYYVREE (%) =FR--FTHx100
Y—THRE (%) =(H—EXT—Xx100+3F x 26— %A x25) +iTH

TRYIRERYE (F) =KRATHBEEY M

TRy IRERE (X) =BR+HBEY b
Y= LI—TRUE (%) = (FRIE] x 100+ [R] x50) +2%

KAEDEEEE. ABUFEABRNL—R—LBRITRELES,




